     				       Mizoram Election 2013 Results
Mizoram State Legislative Assembly
                Constituency/Bial	       					MLA

 1. Hachhek					-		Lalrinmawia Ralte (INC)

 2. Dampa						-		Lalrobiaka (INC)

 3. Mamit						-		John Rotluangliana (INC) 
 
 4. Tuirial						-		Hmingdailova Khiangte (INC) 

 5. Kolasib					-		PC Zoramsangliana (INC) 

 6. Serlui						-		K. Lalrinthanga (INC) 

 7. Tuivawl					-		RL Pianmawia (INC) 

 8. Chalfilh					-		Dr. H. Ngurdingliana (INC) 

 9. Tawi						-		R. Lalzirliana (INC) 

10. Aizawl North -I				-		R. Romawia (INC)
 
11. Aizawl North -II				-		Lalthanliana (MPC)

12. Aizawl North- III				-		Lal Thanzara (INC)
 
13. Aizawl  East –I				-		R. Lalrinawma (INC) 

14. Aizawl East-II				-		Lalsawta (INC) 

15. Aizawl West-I				-		K. Sangthuama (MNF)

16. Aizawl West-II				-		Lalruatkima (MNF)

17. Aizawl West-III				-		Vanlalzawma (MNF)

18. Aizawl  South-I				-		R. Vanlalvena (INC)

19. Aizawl South-II				-		Lt. Col. Z.S. Zuala (INC)

20. Aizawl S-III					-		K.S. Thanga (INC)

21. Lengteng					-		H. Rohluna (INC)

22. Tuichang					-		Lalrinliana Sailo (INC)

23. Champhai North				-		TT Zothansanga (INC) 

24. Champhai South				-		J.H Rothuama (INC)
 
25. East Tuipui					-		T. Sangkunga (INC) 

26. Serchhip					-		Lal Thanhawla (INC) 

27. Tuikum					-		Lalrinawma (MNF)

28. Hrangturzo					-		Lalthanhawla (INC)

29. South Tuipui					-		John Siamkunga (INC)

30. Lunglei North				-		PC Lalthanliana (INC)

31. Lunglei East					-		Joseph Lalhlimpuia (INC)

32. Lunglei West					-		Chalrosanga Ralte (INC)

33. Lunglei South				-		S. Laldingliana (INC)

34. Thorang					-		Zodintluanga (INC)

35. West Tuipui					-		Nihar Kanti Chakma (INC)

36. Tuichawng					-		Dr. DB Chakma (INC)

37. Lawngtlai West				-		C. Ngunlianchunga (INC)

38. Lawngtlai					-		H. Zothangliana (7993)*
  									Vanhup Zathang (7910)*
 									Sangdawna (642)*

39. Saiha						-		Dr. K. Beichhua (MNF)

40. Palak						-		Hiphei (INC)


Total: 40. Declared: 39, INC= 33, MDA (MNF 5, MPC 1) = 6, ZNP = 0, Ind/Others= 0.



